## Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	87	8.	Date Regis	- site bil ter	ls	14/9/	2021 ower Platorym
Company Name:	MPI	-	Site:		1	nay Al	ower platourn
Name of Contractor	Gna	neshwa	v ch	my/			
Nature of work	Car	pentry	/			•	
Work done	From Date		18/20	To Iso	Date	11(2	2021
SI. Villa/Flat/block n No. Doors fran 1. with cylina 2. tock's beed		Rate	2	Units	Amoui	nt	Contractors bill no
2. tock's buch							
3. in C-101, C-103							
101,00							
4. C-106, C-301, C-30 5. C-305, C-401, B-C	1021						
6. B-405, B-503, B							
7. Dows by	8	7 37	13	no	32,1	625 = F	
8. Dow beech			60	no		120 =P	
9.						1	
10.							
11.	Γotal:				37,	845=P	
Bill required	□ YES 7	NO.	GST	bill requ	aired	□ YES	₽NO.
Measurement &	Require			suremen		Encl	
estimate sheet:	□ Not rec	luired		nate shee		□ Not	enclosed
PO/WO no. PO/WO date:							
Remarks :							
6							
	(9)						
Approved by Project M	lanager	Approved	by De	sign Tea	m A	pproved	by M.D.
Date: 14 9 20 2	1	Date:			D	ate:	
Sign: LL	and within 7	Sign:		0 TH : 0		ign:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor sian 2 CHARY

# Door fixing with beeding for flats C-101, C-103, C-104, C-105, C-301, C-302, C-304, C-305, C-401, B-402, B-405, B-503, B-504

3,043.00						
3 045 00						
	420.00	60.00	nos	7.00	Other Door Beeding fixing	
	2,625.00	375.00	nos	7.00	Door fixing for other door with cylindrical lock	8 Door Fixing - C-305
2,610.00						
	360.00	60.00	nos	6.00	Other Door Beeding fixing	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	7 Door Fixing - C-304
2,610.00						
	360.00	60.00	nos	6.00	Other Door Beeding fixing	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	6 Door Fixing - C-302
2,610.00						
	360.00	60.00	nos	6.00	Other Door Beeding fixing	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	5 Door Fixing -C-301
3,045.00						
	420.00	60.00	nos	7.00	Other Door Beeding fixing	
	2,625.00	375.00	nos	7.00	Door fixing for other door with cylindrical lock	4 Door Fixing - C-105
2,610.00						
	360.00	60.00	nos	6.00	Other Door Beeding fixing	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	3 Door Fixing - C-104
2,610.00						
	360.00	60.00	nos	6.00	Other Door Beeding fixing	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	2 Door Fixing -C-103
2,610.00					4	
	360.00	60.00	nos	6.00	Other Door Beeding fixing	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	1 Door Fixing - C-101
4	5, B	C-401, B-402, B-40	C-305, C-40	C-302, C-304,	C-101, C-103, C-104, C-105, C-301,	Door fixing with beeding for flats
Item Head Total	Amount	Rate	Units	Quantity	Item Description	S No. Item Head
					14-09-2021	Date:
					K. Narender Reddy	Prepared By
					Gnaneshwar Chary	Name of the Contractor
B-405, B-503, B-504	C-401, B-402,	, C-304, C-305,	-301, C-302	C-104, C-105, C-301, C-302,	Door fixing with beeding for flats C-101, C-103, C-	Work Description:
					May Flower Patinum	Project:
					MPPL	Company Name:
	7000					ESTIMATE SHEET
	Approved					

## Door fixing with beeding for flats C-101, C-103, C-104, C-105, C-301, C-302, C-304, C-305, C-401, B-402, B-405, B-503, B-504

			only	=lve rupees	Amount in words Thirty Seven Thousand Eight Hundred and Fourty Five rupees only	Amount in words Thi	
37,845.00					Total Amount		
3,045.00							
	420.00	60.00	nos	7.00	Other Door Beeding fixing		
	2,625.00	375.00	son	7.00	Door fixing for other door with cylindrical lock	Door Fixing - B-503	13
4,350.00							
	600.00	60.00	nos	10.00	Other Door Beeding fixing		
	3,750.00	375.00	son	10.00	Door fixing for other door with cylindrical lock	Door Fixing - B-402	12
3,045.00							
	420.00	60.00	son	7.00	Other Door Beeding fixing		
	2,625.00	375.00	nos	7.00	Door fixing for other door with cylindrical lock	Door Fixing - B-504	1
3,045.00							
	420.00	60.00	sou	7.00	Other Door Beeding fixing		
	2,625.00	375.00	nos	7.00	Door fixing for other door with cylindrical lock	Door Fixing - B-404	10
2,610.00							
	360.00	60.00	son	6.00	Other Door Beeding fixing		
	2,250.00	375.00	son	6.00	Door fixing for other door with cylindrical lock	Door Fixing - C-401	9

MEASUF	MEASUREMENT SHEET				Approved				
Company Name:	y Name:	MPPL							
Project:		May Flower Patinum						)	
Work Do	Work Description:	Door fixing with beeding for flats C-101, C-103, C-104, C-105, C-301, C-302, C-304, C-305, C-401, B-402, B-405, B-503, B-504	04, C-105,C	-301, C-302	2, C-304, C-	305, C-401	B-402, B-405, B-50	13, B-504	
Name of	Name of the Contractor	Gnaneshwar Chary							
Prepared By	ΙΒ <sub>ν</sub>	K. Narender Reddy							
Date:		14-09-2021							
			Þ	В	C	0	E=AxBxCxD	П	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
_	Door fixing with beeding	Door fixing with beeding for flats C-101, C-103, C-104, C-105,C-301, C-302, C-304, C-305, C-401, B-402,	C-304, C-30	5, C-401, B	-402, B-405	B-405, B-503, B-504	304		
	Door Fixing	Door fixing for other door with cylindrical lock	1.00	1.00	1.00	87.00	87.00	nos	
2	Door Beeding	Other Door Beeding fixing	1.00	1.00	1.00	87.00	87.00	nos	
								,	
				۵				×	

### **Bill for Consumables**

Gnaneshwar Chary Suchitra, Kaveri Nagar ,Uppal Hyderabad

Date:14-09-2021

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Door fixing with beeding for flats C-101, C-103, C-104, C-105,

C-301, C-302, C-304, C-305, C-401, B-402, B-405, B-503, B-504

**Towards:** 

Allowance for Consumables

S No.	Description	mount
1.	Brief description of work done: Door fixing with beeding	
	for flats C-101, C-103, C-104, C-105, C-301, C-302,	Rs.7569=00
	C-304, C-305, C-401, B-402, B-405, B-503, B-504	
	Total amount =Rs 37845=00	
	Work done from date : 20-08-2021 to 11-09-2021	

Amount in words: Seven Thousand Five Hundred and Sixty Nine rupees only.

### Bill for Equipment Allowance

Gnaneshwar Chary

Suchitra,

Kaveri Nagar ,Uppal

Hyderabad

Date:14-09-2021

In favor of:

MPL

Project / Site:

MFP

**Location: Type of Work:** 

82/1. Mallapur Door fixing with beeding for flats C-101, C-103, C-104, C-105,

C-301, C-302, C-304, C-305, C-401, B-402, B-405, B-503, B-504

**Towards:** 

Allowance for Equipment

S No.	Description	mount
1.	Brief description of work done: Door fixing with beeding	
	for flats C-101, C-103, C-104, C-105, C-301, C-302,	Rs.15138=00
	C-304, C-305, C-401, B-402, B-405, B-503, B-504	
	Total amount =Rs 37845=00	
	Work done from date : 20-08-2021 to 11-09-2021	

Amount in words: Fifteen Thousand One Hundred and Thirty Eight rupees only.

### Bill for Labour charges

Gnaneshwar Chary

Suchitra,

Kaveri Nagar ,Uppal

Hyderabad

Date:14-09-2021

In favor of:

MPL

Project / Site: Location: MFP 82/1. Mallapur

Type of Work:

Door fixing with beeding for flats C-101, C-103, C-104, C-105, C-301, C-302, C-304, C-305, C-401, B-402, B-405, B-503, B-504

**Towards:** 

Allowance for Labour charges

S No.	Description	mount
1.	Brief description of work done: Door fixing with beeding	
	for flats C-101, C-103, C-104, C-105, C-301, C-302,	Rs.15138=00
	C-304, C-305, C-401, B-402, B-405, B-503, B-504	
	Total amount =Rs 37845=00	
	Work done from date: 20-08-2021 to 11-09-2021	

Amount in words: Fifteen Thousand One Hundred and Thirty Eight rupees only.

<b>~</b> !	
Sign:	-